October 17, 2016

Grade 9

(:? Warm Up

1) Write the following as a repeated multiple and evaluate HYS) (\\) (—\;)
a) (-3 b) -(-2)° o) -(-2)° §1)
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2) Write as a ;%;iér then evaluate |
a) -(2)(2)(2)(-3)(-3)(3)(3) bﬂﬂﬂ@@@@@
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3) Write the following as a powers of 10:
a) BY Yo %24 SRS
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4) Write the following in standard form: T (Q “O)f q |0
a) (5x 104) + (9 x 102) + (7 x 10%) + (6 x 100)

500004900 + 770 b
5091V




October 17, 2016

A

U C1543-13 s«
0o~ S
3x2-1
L
75!

\



October 17, 2016

N R
7, \ UJ (DI] 2Nnts

can't see Can you
the see the

difference!




October 17, 2016

THERE IS A N U € piFFERENCE!

52 There
IS a
(-1)52  negative
one being
(-1)25  multiplied

25 by the 52.
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Lyn has a square swimming pool, 2 m deep with side
length 4 m. The swimming pool is joined to a circular k
hot tub, 1 m deep with diameter 2 m. Lyn adds 690 g
of chlorine to the pool and hot tub each week. This
expression represents how much chlorine is present
per | m’ of water:

690
X+ X T

The suggested concentration of chlorine is 20 g/m” of water,
What is the concentration of chlorine in Lyn’s pool and hot tub?

Copyright

Is it close to the suggested concentration? *Image taken from "Math Makes Sense 9",
page 65, copyright to pearson education
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Class/Homework

3(a,c,e)
4 (a,c,e,)
o (e, g)
8(a,c,e)
10(a,c,e)
15

16(all) sHow work

October 17, 2016



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

